EXEERHEE

(H) ERk26F4H1H (F) FERk2743H31H

FH2 5 DI

(HAZ: )
B e #B H WARFERE(A) | AIEEERE®B) | HEEA)-(B)

PRE RN 260,139,516

Il e R DR E 189,611

£ Y e 10,500

*{L Y —E ATHE N Ak it (1) 260,339,627
o N 194,381,816
= i 30,151,172
I | o [FF5% 25,193,760
[0l I 7= eaikeg 6,761,534
f& I JeE A B 4 S R A S A U A 1,580,313
A EO &N 0
# EOENEIRES YN 0
Z DD E H 0

Y —EAIHEVE HFH2) 254,907,969

B —ERIG B HRERA(3)=(1)-(2) 5,431,658

A &F BB A4S 0
ZHUHBAC Y AN 52,942

W\ o (i S5 A 0

W A REARTE AL 0
| P& A M AR 2 0
v | 2% | BB A MR AL 0
2| | ROt —e AEBHSR 2,530,007
g A AEH ISR () 2,582,049
1 KT, 0
1 | g | AR S AT £ 0
b HAMGRESRTE AR 0
DN AT iliEE A 0
| R e M 0
Wz oty —r =i s 2,140,238

P —e R HESNEHFHG) 2,140,238

P — ATE B M ERE6)=(4)-(5) 442,711

TR WA ZEEA(T)=(3)+(6) 5,874,369
it % 5 2 A Bh A U 2% 3,877,000

iy [RGB A 0
FHE 8 & A E T RSt SN 0

I [i5] & P 2 B AE 0
|EEEEEHILS 0
Bl | B |z oo s 0
" BB R FH8) 3,877,000
ALK 0

W % PERHIR 0
B (18 pe s 4R - 4R 13,362

» ] B A Bh A5 R B A T A U A8 (BRANZE) 0
" %] o A B A S e B R ST A A ST AR 0
g |k 0
ZDOMOFFRIIE 0
RERIE FHEH9) 13,362

R IR 72 £A(10)=(8)-(9) 3,863,638
G B R EEA(11)=(7)+(10) 9,738,007

o | SRR B M8 el (11 2) 90,210,375
o |24 B R el T Bl e 2 % (13)=(1 1)+(12) 99,948,382
o EASEUREA(14) 0
i | FOMORE LA EURAE(1S) 3,300,000




¢ [EOMORE S IEE(6) 22,138,200
(AT B R AR 81,110,182

(17)=(13)+(14)+(15)-(16)




